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D) 66.88+3.52 @ 2-+0.16 ® 42.14+4.3

@ 62.16=-8.4 ® 16.02+3

B

@ 66.88 + 3.52 = 6688 + 352 = 19

@ 2+0.16 =200 ~ 16 = 12.5

(3 4214 +43=14214+43 =98

@ 62.16 -84 =621.6+84 =74

® 16.02+3=5.34
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@ 8.356+58=1 ---2.556

@ 8.356+58=1.4 ---0.236

® 8.356 + 5.8 =1.44 ---0.004
@8.356 +5.8 = 1.4406 ---0.0052

® 8.356 + 5.8 = 1.44068 - --0.000056

@ 8.356 + 5.8 = 1.4406 - - - 0.00052
<AAr> 5.8 x 1.4406 + 0.00052 = 8.356
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(O1® %) = 3.1 x 2.96 + 0.125
=9.176 +0.125 = 9.301




15. %0 5o Wolr} 9.52m?2 Q1 ZAbzbeg moFqiu ), 71 o] Zo]t
2.8m e, A=) dol= 2 melA| s}/\]g‘

> o= m

> & 34m

(A2) = ("ol) = (712)
=9.52+2.8 = 3.4(m)




7
B % U7

O
—

Ayt

s

]

=

[e]

|

‘ 48 x 3 = 144(™3)

144

.l




St WHo] £¢71 48 cm o™, 141{]3*1?47} 152 cm Q1 =Z}H7]
AHYLE o] YAEY L] Eol= 2 em JU7F?

® 5cm @ 6cm @7(:111 @ 8cm ® 9cm

~&B

TZ7) 5L WO mofo] BZAFo| R oF W BAZE
gt

wabd g B E 8 Yt

g nAg 2] |t s,

(48 x2) + (8 x[_]) = 152(cm)

(152 — 96) + 8 = 7( cm)
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[ Ix[ ]x3.14x0.2 = 141.3(cm?)

[ Ix[ ]=141.3+0.628

[ Ix[ ]=1225

[ ]=15(cm)




